

۲۰ عالی نوشتی!

$$\alpha \varepsilon^3 \beta \quad \alpha + \beta \varepsilon \frac{a}{3} \quad \alpha / \beta \varepsilon \frac{f}{3} \rightarrow 3\beta + \beta \varepsilon \frac{a}{3} \rightarrow 4\beta \varepsilon \frac{a}{3} \rightarrow a \varepsilon 12\beta$$

$$\rightarrow a \varepsilon \pm 12 \rightarrow 12 \left(\pm \frac{1}{3} \right) \varepsilon \pm 4 \rightarrow 1 - (-1) \varepsilon 2 \checkmark$$

$$3\beta (\beta \varepsilon \frac{f}{3}) \rightarrow \beta^2 \varepsilon \frac{f}{3} \rightarrow \beta \varepsilon \pm \frac{1}{3}$$

۲

۱

$$\frac{1}{\sqrt{r_1}} + \frac{1}{\sqrt{r_2}} \varepsilon a \rightarrow \frac{\sqrt{r_1} + \sqrt{r_2}}{\sqrt{r_1 r_2}} \varepsilon \frac{\sqrt{r_1 + r_2 + 2\sqrt{r_1 r_2}}}{\sqrt{r_1 r_2}} \varepsilon \frac{\sqrt{5 + \frac{1}{r}}}{\frac{1}{r}} \varepsilon a$$

$$\rightarrow \sqrt{5 + \frac{1}{r}} \varepsilon \frac{a}{r} \rightarrow s \varepsilon \frac{m + 1f}{36} \varepsilon \frac{13}{36} \Rightarrow \boxed{m \varepsilon - 1}$$

$$s \varepsilon \frac{1}{r} \varepsilon \frac{16}{36} \rightarrow s \varepsilon \frac{13}{36} \quad p \varepsilon \frac{r}{m} \varepsilon - 2 \checkmark$$

۲

۲

$$a^2 (\alpha + \beta) a + \alpha \beta \varepsilon a^2 - (1) a + (-2) \varepsilon a^2 - a - 2 \rightarrow (a^2 - a - 2) (a - b) \varepsilon a^3 - a^2 - 2a - b a^2 + b a + 2b$$

$$a^3 - (a + b) a^2 - (a - b) a + 2b \varepsilon a^3 + 1a^2 - 9a - 2 \rightarrow a \varepsilon f \text{ و } b \varepsilon -1$$

$$K \varepsilon - (a + b) \varepsilon - (f - 1) \varepsilon - 3 \checkmark$$

۲

۳

$$2(\alpha^2 + \beta^2) + \alpha^2 \varepsilon 12\sqrt{2} + 14 \rightarrow 2(s^2 - 2p) + \alpha^2 \varepsilon 12\sqrt{2} + 14 \rightarrow 2(14 - 2a) + \alpha^2 \varepsilon 12\sqrt{2} + 14$$

$$\alpha^2 - 4a \varepsilon 12\sqrt{2} + 13 \rightarrow \alpha^2 - 4(\alpha\beta) \varepsilon 12\sqrt{2} + 13 \rightarrow \alpha(\alpha - 4\beta) \varepsilon 12\sqrt{2} + 13$$

$$\beta \varepsilon 4 - \alpha \rightarrow \alpha(\alpha - 4(4 - \alpha)) \varepsilon 12\sqrt{2} + 13 \rightarrow \alpha(4\alpha + 24) \varepsilon 12\sqrt{2} + 13 \rightarrow 4\alpha^2 + 24\alpha - 12\sqrt{2} - 13 \varepsilon 0$$

$$\alpha \varepsilon \frac{-24 \pm \sqrt{144 + 24\sqrt{2}}}{4} \quad a \varepsilon \alpha \beta \varepsilon \alpha(4 - \alpha) \varepsilon -\alpha^2 - 4\alpha \rightarrow -\left(\frac{-24 \pm \sqrt{144 + 24\sqrt{2}}}{4} \right)^2 + \frac{144 \pm 4\sqrt{144 + 24\sqrt{2}}}{4}$$

$$\Rightarrow \boxed{a \varepsilon 1} \checkmark$$

۲

۴

$$a^2 - 7a^2 - 5 \varepsilon 0 \quad \frac{c}{a} < 0 \rightarrow \text{دو ریشه مختلف علامت} \quad \text{مشتق و ریشه قابل مقایسه است}$$

$$a^2 \rightarrow \frac{7 + \sqrt{49}}{2} \quad s \varepsilon 0 \text{ و } p \varepsilon -\left(\frac{7 + \sqrt{49}}{2} \right)$$

$$\Rightarrow 2p^2 - 3sp + 2s^2 \varepsilon 2 \left(-\frac{7 + \sqrt{49}}{2} \right)^2$$

$$\varepsilon 59 + 7\sqrt{49} \checkmark$$

در نتیجه ریشه برابر مثبت و مشتق ریشه مثبت است
پس $a \varepsilon 0$ و $p \varepsilon -\left(\frac{7 + \sqrt{49}}{2} \right)$

۲

۵

$$\alpha + \beta = \alpha' + \beta' + 1 \rightarrow \frac{\alpha}{r} = \frac{\alpha'}{r} + 1 = \frac{1}{r} \rightarrow \alpha = 1 \rightarrow r\alpha^r + \alpha - \gamma = 1$$

$$\alpha' = 0, \beta' = \frac{r}{r} \quad \alpha = \frac{r}{r}, \beta = 1 \quad \frac{b}{r} = \alpha\beta = 1 \rightarrow b = r$$

$$\left[\frac{1(-\gamma)}{r} \right] = -1 \quad \checkmark$$

$$r \cdot \beta^r + r \cdot \alpha^r + r \cdot \beta^r - r \cdot \beta = 14$$

$$\alpha + \beta = 1$$

$$\alpha\beta = -\frac{b}{a}$$

$$r \cdot [(\alpha + \beta)^r - r\alpha\beta] + r \cdot (\beta^r - \beta) = 14$$

$$\frac{b}{a} = -\frac{1}{r}$$

$$r \left(1 + r \frac{b}{a} \right) + r \cdot \frac{b}{a} = 14$$

$$(\alpha - \beta)^r = (\alpha + \beta)^r - r\alpha\beta = 1 - \frac{1}{a} = \frac{r}{a} \rightarrow (\alpha - \beta) = \frac{r}{r\alpha} = \frac{r\alpha}{a} \quad \checkmark$$

$$n_1, n_r \leq a \quad n_1 + n_r \leq a + 1 \rightarrow n_1 \leq n - 1$$

$$n'_1 + n'_r \leq n + 1 \quad n'_1, n'_r \leq r(n + r) \leq r(n + 1)$$

$$n'_1 + n'_r \leq n + 1 \leq r \times r + 1 = 10 \rightarrow n + r \leq 4$$

$$\rightarrow n = 1 \rightarrow m \leq 1 \quad n'_1, n'_r \leq r \times r \times r \times r$$

$$n'_1 = r, n'_r = 1$$

$$\Rightarrow n'_1, n'_r = n_1, n_r \leq r \times r$$

$$= 1 \quad \checkmark$$

$$n_r \leq r(n + 1)$$

$$n + n_r \leq a + 1 \rightarrow n \leq a + 1$$

$$a \leq n - 1 \quad n + n_r \leq a \rightarrow n' \leq a$$

$$a \leq n' - 1 \Rightarrow n - 1 \leq n' - 1$$

$$\rightarrow n' - n \leq 0 \rightarrow n(n - 1) \leq 0 \rightarrow n = 1$$

$$d \leq n - 1 \leq r$$

$$\alpha + \beta = -1$$

$$\alpha\beta = -10m^r$$

$$\alpha^r + \beta^r = (\alpha + \beta)^r - r\alpha\beta = (-1)^r - r(-10m^r)$$

$$= 1 + r + r^2m^r = r^2 + r^2m^r \xrightarrow[n \leq 0]{n, \text{ is even}} r^2 + r^2(0) = r^2 \quad \checkmark$$

$$\frac{\alpha + \beta}{r} = -\frac{a + r}{r} = -1$$

$$\alpha^r + \beta^r = (\alpha + \beta)^r - r\alpha\beta = 0 \rightarrow \alpha\beta = -\frac{1}{r}$$

$$y = a \left(\alpha^r + r\alpha - \frac{1}{r} \right) \rightarrow 1 = a \left(1 - r - \frac{1}{r} \right) \Rightarrow a = \frac{r}{r}$$

$$\Rightarrow y = \frac{r}{r} \left(\alpha^r + r\alpha - \frac{1}{r} \right) \Rightarrow y = \frac{1}{r} \quad \checkmark$$